ELECTRICAL CIRCUITS 1 - CLASS NO. 13 (20.01.2025)

THEVENIN’S THEOREM ‘

% any Uoeay AC civwit confainiog voltage sources, cuviedt sources, vesisiors, inductors
and capacitors can be veplaced at tevminals A-8 by an equivalent AC voltage
coutce Vi, 10 sefies with an equivalent impedance Zu
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Vi, - dhe cquivoledt vottage obtained at teminals A-B of the circuit With ferminals A-G
open Citcuited

Zim - the  equivaledt impedance  betneen Jormingls A-B with all s0uices veplaced by %el;
- infornal, impedances (all 0 yoltage Soutces e veplaced by a short, all the curten
soutces ate veplaced by an open)

PROBLEM #1

Oclomine the cuttedt To using Thevenin's Theorem. Ei=3V, Eo=j8Y, 1= 1A, R=3d, Xi=bd, Xc= 4.
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PROBLEM #2

Oefoming the cuttent sf) using Thevenids Theoiem. 01(4)= 200 sin (wHis)V, €al)= 400 cos (W
Ra= 204, Xur 800, Ra=40, Xea® 404, %ia= 20 02 = 4003 sin (wt3¢)
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PROBLEM #3

Colelate an acke poner 00 Z3. Uise Thevenins Theorem.
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Vin= £+ Unat U

V= E+ (Ra-jXa)- Iy

Vio= E+ (Ra-)Xer) )

V= (10440) + (10-340) (242) = 10+310+90+;20-520+10 -

= [(50+)40) v
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